%E'TE
(32£5°9€€°95 =
8uniayais ajeizos)
ACE
%Il
(3801°€£6°'T =283)3danyny
‘Bunyasio4
‘Yeyasuassip) € °|d3

"

%t'0T
(3T08'STH'8T =uanyds)

[ACE!

%t'E
(3525°8L09=
8pmjoys3 “‘pods ‘Haypunsap)
\ §1d3
|
%T's
M
%b's
(31£9°9€6°S = 8unupiQ )
pun y1ayJaydis ayd1uayQ) -
17143 v
%L'Y /
(3059°0s28=
Sunyjemiap aurawas)|y)
0 1d3

(309£°817°6 =4yarj1ap
vamw\smm:
|

nuyop\ pun -neg)

9°1d3 y
%6V
(38418858 =
e Suniapiojsyeyosuim
asunyyoniuiz ayIuayQ)
F L7193
/ , \
%L'6 f_
%ST (3565'790°LT = 8ejwinsyizag
(3S€ETTLT vy = 38ejwinsiizag auyo yeydspimzueuty 3j|y)
‘“Yeyaspimzueutd 8||y) 6°1d3
6°1d3 a

|
%60
\ (3¥¥5°049°T

= uaSowianiapuog pun -punio 8|y
. ‘uawiyawiayun “|jyeyIsuIm) 8 '1d3
N3GVOSNY LTYHSNVHSONNLIVMYIA
N3NY1d13ZNI3 HOVN ¢20C NV1dS1TVHSNVH



